Dec. 9, 2016 Hearing Transcript Errata

Page:Line Change From Change To Reason
7:12 and not obviousness | of nonobviousness Transcript Error
7:24 generally accord generally in accord Clarification
9:18 rational rationale Transcript Error
8:19-20 reference of the reference, the Barth | Clarification

Barth patent and patent, and
10:6-12 “It’s because wind It’s “because wind Transcript Error/

lift is caused by lift is caused by a clarification

wiper strips inverted | wiper strip’s inverted

triangle profile, a triangle profile, a

person of ordinary person of ordinary

skill in the art would | skill in the art would

have understood the | have understood that

conventional and flat | conventional and flat

spring wipers are spring wipers are

subject to wind in subject to wind lift in

and fundamentally fundamentally the

the same way.” same way.”
10:20 IPR, the wind prior art, wind Clarification
12:19 here hear Transcript Error
14:1 directory direct Transcript Error
14:4 packages passages Transcript Error
14:7 expert expert, Clarification
14:19 and in Transcript Error
15:9 from form Transcript Error
17:18 as IS Transcript Error
17:21 Ludwig the Ludwig Clarification
20:15 strip strip’s Transcript Error
24:16 spoiler Prohaska with | spoiler of Prohaska Clarification

support with the support
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Page:Line Change From Change To Reason
26:6 bearing burying Transcript Error
35:3 reputation refutation Transcript Error
36:13 IS as Transcript Error
38:6 it institute or not and | it, (;nstitute or not, Clarification
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